barnson

Geoff Spice 4.04.2023
433 Kaludabah Road
Piambong NSW 2850

41215-SLOT_A

Dear Geoff,

| hereby certify that Mr. Sam Rochester, a Structural Engineer, visited the above address on Thursday
30th March 2023. The purpose of the inspection was to review and certify the internal works
completed within the existing shed structure to obtain a Building Information Certificate (BIC) with
Mid-Western Regional Council.

The client advised that the shed was constructed approximately eight years prior to the inspection
and was modified in August of 2022 for use as a habitable structure. The client provided the attached
design drawings produced by the shed supplier, Wide Span Sheds, along with photographs taken
during the internal fit-out. The drawings have been stamped during construction by Whitehall
Building Certifiers indicating that the shed is adequate for use as a Class 10a building as per the
design drawings.

Further evidence that the shed was constructed in accordance with the design drawings was
collected during the inspection. The steel framing of the original shed was inspected directly by
removing some of the roof and wall sheets. The slab was confirmed to be minimum 100mm thick
with a plastic membrane installed underneath and mass concrete piers located below each column.
This matches the specification provided for Class A, S or M sites. A geotechnical investigation was
completed by Barnson at the site of the shed in 2015. The report produced following this
investigation, 23581-GRO1_A, advises that a site classification of M-D should be adopted.

The stamped drawings and observations made during the inspection confirm that the original shed
was constructed in accordance with the design drawings and is therefore structurally adequate for
use as a Class 10a building. The internal fit-out has been completed in order to convert the building

barnson.com.au


mailto:generalenquiry@barnson.com.au
http://www.barnson.com.au/

barnson

to a habitable structure or Class 1a building. Based on the provided photographs the steel and
timber framing installed as part of the internal fit-out are in accordance with the NASH standard and
AS1684.2 respectively. The slab was designed for a Class 10a building and specification for the type
of slab used is not provided in AS2870:2011 — Residential slabs and footings. Although the slab has
not been designed for residential purposes, we advise that it is structurally adequate to support the
floor loading for a self-contained dwelling. It should be noted however that due to the low stiffness
of the slab, cracking should be expected to brittle installations (i.e., plasterboard lining).

Some additions not included on the original design drawings were noted. A steel framed verandah
was attached to the South-West, South-East and North-East side of the building. A 100mm thick
concrete slab was installed below this verandah on the North-East side and along a partial length of
the South-East side. The steel-framed verandah was noted to have C150 rafters spanning maximum
3m to a C200 verandah beam, which is supported over 100SHS columns embedded into concrete
piers.

Photographs of the structure as provided by the client during the fit-out and taken during the
inspection are included in Appendix B.

Upon analysis, the structure has been checked in accordance with accepted engineering principles
and has been found to generally be structurally adequate to the below Australian Standards and
design parameters:

1. Loading:

General principles of loading calculation and loading combinations to Australian
Loading Code AS1170.0-2002 and other relevant codes as below:

a. Dead Loads:
i. Roof: Weight of steel sheeted and cold-formed steel framed roof with
plasterboard ceiling lining, 0.3kPa.
ii. Roof: Weight of solar panels, maximum 0.2kPa.
iii. Framing: Self-weight of steel wall sheeting, cold-formed steel framing
elements and internal wall lining, 0.4kN/m?.
iv. Floor: Self-weight of reinforced concrete floor slab, 25kN/m?.
b. Live Loads:
i. Roof: Maintenance load of 1.8/A + 0.12kPa (min 0.25kPa), or 1.4kN point
loading as per AS1170.1-2002.
ii. Floor: Imposed action for general areas of self-contained dwellings, 1.5kPa
distributed action or 1.8kN point loading as per AS1170.1-2002.
c. Wind Loads:
i. Wind Class N3 to AS4055-2012.



barnson

2. Design Standards:

a.

b.

AS/NZS 1170.0:2002 — Structural Design Actions, General Principles

AS/NZS 1170.1:2002 — Structural Design Actions, Permanent Imposed and Other
Actions

AS/NZS 1170.2:2011 — Wind Actions

AS/NZS 1684.2:2010 — Residential Timber Framed Construction

AS4100:1998 — Steel Structures

We advise the structure complies with the above standards as is suitable for use as a habitable

structure.

If you have any further enquiries regarding this matter, please contact the undersigned.

Yours faithfully,

BARNSON PTY LTD

Luke Morris
BE ME FIEAust CPEng (Reg)
Director

Encl:

e Design Drawings — Wide Span Sheds
e Site Photographs



barnson



barnson.

APPENDIX A
Building Plans/Documentation




Design Information Sheet

Building Details
Item Design Value
Buikding Description Portal Design Steel Frame and Steel Clad Buiding
Job Reference # WSS 160069
Site Address 433 Kahdbah Rd PIAMBONG NSW 2850
Buiding Chassification Chss 10
Efiective Design Height 3.18m
Main Buiding Left Leanto Right Leanto
Length 12m NA NA
Bay Size 4 evenly spaced NA NA
Span 7m NA NA
Roof Pitch 06 degrees NA NA
Pressure Coefficients
Item Design Value Reference
Internal Pressure coefficiert CPI | 0.7 AS/NZS 1170.2 Clause 5.3
Windward Wal (External Across) | 0.7 AS/NZS 11702 Table 5.2 (A)
Windward Rafter (External Across) | -0.9, -0.4 AS/NZS 1170.2 Table 5.3 (B)
Leeward Rafter (External Across) | -0.47 AS/NZS 1170.2 Tabke 5.3 (C)
Lecward Wall (External Across) | -0.5 AS/NZS 1170.2 Tabk 5.2 (B)
Side Wall (External Along) -0.65 AS/NZS 1170.2 Table 5.2 (C)
Rafters (External Along) -0.9,-0.4 AS/NZS 1170.2 Table 5.3 (A)
Local Pressures Apphed Yes AS/NZS 1170.2 Tabke 5.6
Site Classification
Item N[Ne| E [sE[ s [sw]| w|[n~w
Wind Region Al
Inportance level 2
Terrain Category 2 l2 {2 iL2slzs 12 . las |2
Shickding Multipher (Ms) 1 |o9fo9s|1 |1 1 095 | 1
Topographic Multipher Mt) | 1 [ 1 | 1 1)1 | 1 1
Wind Direction Multiplier Md) | 09 | 08 | 08 | 0.8 [ 0.85 | 095 | 1 0.95
e o || WHITEHALL BUILDING
e —r—— = CERTIFIERS

YING DEVELOPMENT
COMPL o0l

CERTIFICATE NO....c.ccoennlilainenn
PCA BFPB 0439




Timciaa covour s s0e
Roof Shestng
. s80mm 75
S IR — s "m," i L A
o
¢ &N
Rafer g g SN
o
S O :3
= |
2 S:J o oS
N \ m — > ' [aa)
4 w e o
£ - k=~ Zm
; I 2Es
Barge Flashing XF11 - Sheeting Gable XF 11 E ) —;_J Z() =
= B e
X > =
= O x
O w
O
r/”
JPurchaser Narma: Geof Spics mmlmmlm /
ME At (Regisiwred NPER Siuchl & On) 21787
Seer Wida Epan Sheds QLD RPEQ No. 1547, VIC - ECM 162 TAS | CCAB00H: NLT - 46820€5.
o Ackreas: 433 Kakhubah Rl PUAMBONG NSW A e 2850 Flashing Fixing Detalis :’#n:wum Practaing Froksional Syuctral & CM Engnest
Page 2002 e T \
Jormaing # WES 160000 - Print Dot 210116 [ Sgnetre - R Showers Date: 210116

Yumn
—




—

Fawn
4-—Flashing

L We ey

COLOUR TI S SIDC

‘Wall Gt -
i , Cotwmn
Side Gut % —. —<
oww s 2 sl Shestiog—-
ﬂi Cormer Co i R E \\Q
Cormar Column | ‘, g i 5 g uw (\‘ } s
| S
| E o - 5
i | >
i 20 Omg T
{ . > [\ i < Wal Shestng
l K 51 & 16D
OpenEn > nas > :
~ L WA fas} Wan Gat
| ~= A9a
== © Z m Comer Flashing - XF 21
Flashing XF402 - Connection q X w <
G8 550
o=
= E Q
—
w OO TG SIOC
& P
= O »
&2 O w zzomm i REERC. 9 S%
(& I IR i PR
=, S
|
13
§ | £
I l
J I
y 1 ~=ENY
— - XF80 =
o 80 mm 4 * ‘%
COLOUR THIS SIDE
XF21 Barge Flashing XF80
Purchuesar Narme: Geoff Soics ey iy PTYLTD
S o o S LD R o0 V. T AR T 002885,
Flashing Fixing Detalis Bedvle Prectabg
Page 10t2 Fasc 07 5857 8600 .
adminGahecs com
# WSS 160006 -9 Prrt Dutn: 2101716 Sonears: - R.Shosers Dele: 210118




~

Rool Purkn -

Fixing Screws
201142022

4 scraws per sheet
stEave

4 scrows per sheet

: F = Eave Purlin
|

'fr i

Jorowing # W65160009 - 8

Print Dote: 210116

| = o
& il
. | Reverse Haunch il
A Bracket i
e ~ “\ | 4 scrmws por sheet | I[ Gl
\ 1 atenc K (‘j‘ !'
\ . Ji Overiop
A | R
i 1 \\J » ’ >
i FIXING SCREWS - 6 of 14.20 x 22 r"14—'—f' SR ANl —’7.‘—‘;1’# —F
BRACING CONNECTION AT HIGH END (SKILLION) FLY BRACING G":‘
S
® Z N
2 2
B, 2/
29 9 18
Sk g i3
Qi > g
- "5' O o
1
W <
T Ul Z =0
6.0 St d
ey 90
= % [
e =
S =
= Q
O w
| (@]
chasor Nacma: oot Sokcn Sonersawn PIVLTD
ME At (Regiaived NPER Sruckral & C) 121787
beioe Ackress. 433 Kakuchah R PAMBONG NSW Aus ralls Z850 Connection Detalls ;::"3?;:‘: uﬁ-t-v' mmm breld :a-l: m‘:ﬁmm i
Page 5l

Sgnakre: - R Showers Dele: 2101116

]



FIXING SCREWS - 4of 14.20 x 22
EAVE PURLIN BRACKET TO RAFTER

e Eave Purlia Brackst

i. Haunch Bracket

GIRT FIXING
BACK TO BACK C SECTION COLUMNS (WITH SINGLE RAFTER)

Top Fixing Angle

30 VIEW

FIXING SCREWS

RAFTER FIXING ANGLE - 8 of 14.20 x 22
TOP FIXING ANGLE ~ -B0of 14.20x 22
FLY BRACE -60l1820x 22

END WALL MULLION TO RAFTER

FIXING BOLTS - 6 of M12 X 30
FIXING SCREWS - 3 of 14.20 x 22
OVERLAP = Greater of 10% of span or 500 mm
PURLIN/GIRT FIXING
SINGLE C SECTION COLUMNS OR RAFTERS

S N
i
So &
ST 5
a0 HLE s
) 5 A
& o
14 ¢
=
85 LS
spmesmen (2O
2 of M12 x 160 STUD BOLT FOR CHEMICAL ANCHOR O
C150 MULLION BASE PLATE

Raftec

Fixing Screws
20(1420x 22 Column
|- Bssa Puw
Wall Crosa Bracing

BRACING CONNECTION

PCA BPB 0439

# WSS 160080 - 8

Print Dede: 210116,

oo e
Page a5 Facc 7 5857 5690

SHOWERS | FIYLTD
o ACN: 0TS DO7 144
ME AL (Regsored NPER Stuctral 8 Owl) 321787

QLD : RPEQING. 1547; WG : EC4162; TAS  COABOOR, NLT 48U26ES;
Praciaing Prolessionsl Siuctrsl & CM Engnes

somn - R rowan. Dacz10178




|

FIXING SCREWS - 8 of 14.20 x 22
INNER HAUNCH BRACKET - SINGLE

© FIXING BOLTS - 4 of M12 x 30
X FIXING SCREWS 8 of 14 20 x 22

KNEE BRACE FOR C200 COLUMN
BACK TO BACK COLUMN - SINGLE RAFTER

Eave Purlin

© FIXING BOLTS - 4 of M12 x 30
« FIXING SCREWS - 8 of 14.20 x 22

Eave Purin
Double Header Purhn Bracke!
(Bolted M12 x 30
@ mux1000mm INTERVALS)

Eave Purlin Bracket

FIXING SCREWS - 4 of 14.20 x 22
EAVE PURLIN TO EAVE PURLIN BRACKET

& Favm Purka Roacket
Haunch Bracket -
¢ g = Haunch Bracket
Is /] Column .
Cowmn | |
" FIXING BOLT - 1 of M12 x 30
~ FIXING SCREWS -2 of 1420 x 22
OR < FIXING SCREWS -4 of 14.20 x 22
EAVE PURLIN BRACKET TO RAFTER
Narne: Gnolf Sgice

JOrmuing # WSS 160060 - 8

J Prid Dot 210116

Connection Detalls
Poge 3ol

CERTIFIERS
COMPLYING DEVELOPMENT

WHITEHALL BUILDING

KNEE BRACE FOR C200 SINGLE COLUMN - SINGLE RAFTER

7%

CERTIFICATE NO..........

AR OA420

:—\
FPUR OO U907

Rufer

Fixing Any

(8 0f 14.20 x 22

screws 1o

Column Flange

and under aave
n)

- OPEN BAYS




FIXING BOLTS - 4 of M12 x 30
2 of M12 X 160 CHEM ANCHOR BOLTS

C200 COLUMN FIXING

O FIXING BOLTS - 8of M 12X 30
X FIXING SCREWS - 110 14.20 x 22

HAUNCH PLATE - C150, 6 deg

40fM12x30

FIXING BOLTS - 4 of M12 x 30
2 of M12 x 160 CHEM ANCHOR BOLTS
€150 COLUMN FIXING

FIXING BOLTS - 8 0f M 12 x 30
x FIXING SCREWS - 5 0f 14.20 x 22

REVERSE HAUNCH PLATE - C150, 6 deg

NG

FIXING BOLTS - 80l M 12 x 30
~ FIXING SCREWS - & of 1420 X

HAUNCH PLATE - C200, §

WHITEHALL BUILDI

© FIXING ROI TS - 8 0f M 12 x 30
X FIXING SCREWS - 12 of 14.20 x 22

HAUNCH PLATE - C200, 6deg

CERTIFIERS
COMPLYING DEVELOPMENT

woenb s

CERTIFICATE NO..

l

A BPB 0439

’,

PC

JPurctios o Name. Geof Gpicn

Fohe Ackress: 413 Kekcah Rl PAMBONG NSW A sl 2650

[rowirg # WSS1600% - 8

Prict Dete. 210116

Connection Datails P, 0 87 s
Poge 205 Famc 07 5667 8000
Emak sckrangaheck com.au

SHONERS ENGNEERNG PTY LTD

ACON.075007 144

ME AL (Regisiared NPER Sruckeal 3 C) 1787

QLD : RPEQNo. 1547, WIC © EC24 182, TAS : CCABOOH, N.T - 4662865
Prachaing Prokesionel Siuckrsl & Crd Enginess

au—n- R Showers st 2108




TRUBCLT /LBOLT / CHEMICA CHORS

1 e w0
/ 100 covtr 3
s N
o | o)
w o
| 100 mcccRmercn) ~

SLAB REINFORCING MESH

?)Li?CBKNESS

150 RECOMMENDED

Soma | ot
) B %—.‘::;“r‘"“ 3 ;:—:.E:::‘" fut \ COMPACTED FILL
Z : PV MSMBHSNE
I g %J BON D hcemenT ‘4 300 UNGER'STA
) , mecsscmoment £ Q Q_Q; .
o i 29 ORN! | INTERNAL BEAM
SLAB AND PIER DETAIL e pnpi =2 S g - (H1.H2)
BORED PIER ol >
: i
ik MO a
Ik 052
w <
=T TSR REQOMMENDED su«snsmroncmedﬁug % < 8
. 1o [ O
g B L N
ICKNESS =
oy oeet 8 1 4
coumerrs oot x
PO et i Al
L
St LU
—l—— 300 —L E?HF%'%CEMENT - =0
PERIMETER BEAM e e,
(H1,H2) 4 0l M12 x 180 CHEM ANCHOR BOLTS

SLAB DETAIL BETWEEN PIERS 2C200 COLUMN FIXING

] PTYLTD
ot Spicn @mwnu

Jprchaser Name: AaL (Regkired NPER Siuchnd & O 321787
*m&ms—m QLD RPEQN. 1547, WC - EC24162; TAS - COAGOM, NLT: 40R06ES;

st Ackress. 433 Koo R PIMBONG NSW Aun ek 2850 Connection Detalls oty - MO Y

Page 1ol Fauc 07 5667 0000 -

Emal adtrinisheds com s

SEp— Prit Dote: 210116 Sgrar: . R Showen Dels: 210146

_»




(2

@ =z
Im Im 3m o | pasad =
— — e e = - Q o
e R e e S, % ig
| - i 2 €7
i | | Ry o o =4
i | T :
| mW S i
‘ wl ik B0 o
7 - E &5 Z m
P < O w o
< ' W Z=y
= wo > I af
=~ 2 Q
e T o
; 3 =
P = O
S O w
v (@)
B i v o Spem
" nem
,///
ol 1
i P ‘
12m Langth
SHOWERS | PTIYLTD
ety Eigﬁfmwm::"m‘ m—
Mnhlh'mﬂtnm mo,m?“.“m
Sgretse. R Showen Dele 210116
*,_.,.mm., et




88¥0 848 vOd
w\ﬁ .............. ON 3LvOI41L¥30
IN2WAOTIA2A DONINIANOD

i e
ONIAYNE TIVHILIMM _ |F

i S

2266
PTYLTD

|
I

|

|

|

|

|

|

|

i
|
|
|
|
1
|
|
|
|
i
]

o7
VA (e

Im

SSUE 2866w I

[P
&
“T,f
o
|

|

\

|

\

J

[
{Fasd]
i
e
[

|

|

|

|

fSie Ackbeas: £33 Kakchah R PUMBONG NSW Aus rakie 2050

JPrrchmanc Marme: Geot Soicn
JOrming # WSS 160089 -6




6EV0 948 VOd j

VA ON 31VDI311430 |
{N5W0T13AIA ONIATINOD

ONIG

374m

SHIAIHLYFD S -
Nd TIVHALIHM '
i
# |
. ,
2
1
| s s
|
! * .
{
1
1

|

okt S0l e

SHOWERS ENGINEERNG PTYLTD
ME Aunt. (Regiatersd NPER Siuckral & Cvi) 121787

ACNEOTS 007 144

QLD : RPEQ No. 1547, WIC - EC24162: TAS | CCABOOH, LT 46228ES;
Pracaing Protessions) Srucnd & CM Engineer

R Showers Dele: 210116

\ S

-
\,..,,mm..s



MATERIAL SPECEICATIONS

All dimesions are In meters. Fler sk nominsded are suitable for Class A, S or M sites. Refer o General Notes.

=\

N

e N
o Rl
= S 2ioe e

Faors 53 m‘: 15 15 15 \‘u:: w
Exvaaass—] 5 % oy s 3
racee -6 o110 = -~ L-‘: g ©) &y
A 12 10012 10012 &l E O Z m
T By e w <€
s : x g Z iz 0
e v ©

= T = &

s ol

o

O

%sse
Al

fPurchese Name. Geof Spics SHOWERS ENGINEERING PTYLTD
Jrovige
(Rogatarod NPER Sruckral &
Wde Spn Sheds i TOAT V. oMt TAS: G
bne Ackimas €33 Kakxiboh Rl PAMBONG NEW Aus e 2050 Specification Sheet "‘";,%m Protoss ol Sicrsl & Ch Enginese
Paga tol | Fauc 07 5657 8300 .

oy
Jorming # WSs160085 - 4 P Dot 210116 st R Showsrs Oute: 210116




——

y

|

\m 22\
Lu\: \
= =N \
Q a.
‘;JU) DR
373m l;ﬁ: d e
g = =22
|lJiL Lbg@
Lokt Side i:llE 82%
& w
&Y EED
=i g0y
3w m m EL X 2&
2 ok
| 3%
| 1 3 4

left Eng
.
RgrtEne
1%3m 1 8m 19w 18 3%m
faananze Haarance Taares Hearanca
RgM Side
ENGNEERNG PTYLTD x
[Purchaser Name: Geof Spice AN 0TS 007 144
At (Rogmtered NPER Shckral & Chi) 121787
\ada Sy GLD: RPEQNo. 54T, VC - ECM162. TAS . COAGON NT - ASSR8ES:
Sl Py LS Freciaing Frciees onsl Siucaral & Ml Ergemar
st Ackbens 43 Kakcah Rt PUNBONG NGW A vals 2850 Layout Phone: 7 5657 8600
P 7 5667 8090 -
Emak achinGs hech com i
Syrare: R Showes Dete: 2101116
e wesiems-3 Pt Dute 2101116




These documents show the general arrangement of the buikding and inchude some tems
ot supplid (refer to the quotation for nomination of all kems to be provided). All tems
ot nomnated therem shall be supplied and mstalied by others.

DESIGN CRITERIA

These buikling plans have been prepared to comply with the standards nominated in the
engineer' ketier and temised details i the attached Design Information Sheet.

The plans provided here are the atest at the tine of print. Earkicr plans provided may
bave become outdated due 1o engineering changes and shoukd nat be used. The plans and
drawings arc cxtensive and grve all the information needed for a competent person to erect
the busdmng. The buikiing is not designed to stand up by itself when i is partially
complete. C bracing & 1 during crection.

The owner has been requested to check off the BOM after the buikling delivery. You
should check that you are able to bocate all materiaks nominated in the BOM. You should
k5o confirm that the kength and size (nchuding thickness), nominated i the BOM is what
has been provided. Any missing items arc the responsibility of the client once correct
delrvery has been confamed as per Terms and Conditions of Sake.

ADDITIONAL DOCUMENTATION TO BE SUPPLIED BY
PURCHASER/OWNER

The PurchaserOwner is respoasible for:
'va'umol&nbkmﬂﬁxlhcsil::n‘lnlbeb\u.\i'll‘uulmwhmlbtbllikfn‘iw
be erected

*Site/Dranage Plans

« Any other plans not covered by these engincering plans requested by the Jocal Council or
the authority

BUILDING CONSTRUCTION REQUIREMENTS
The Purchaser’Owner i to be ensured that all buiding coostruction s carried out in
accordance with the Plans, the Construction Manual and the Bill of Materials (BOM).

SLAB AND PIER DETAILS - GENERAL

* Where columas or end wall mulbons have been removed, piers are not required.

+ End wall mulion spacing may move duc to location of opeaings or doors. Check layout
plan, and relocate piers as required.

Concrete Slab

* Design covers stcs with » minimum of 100kPa safe bearing capacity and of soil
chssifications of A, S, M, H1 or H2 for a class 10 building Other than this, owner 1o
provide siab and pier design detais

* Designs are m accordance with AS 36002009

* All concrete o be in accordance with AS 3600:2009. Minimum 25 Mpe, with 80mm
shump.

* Concrete sbould be cured for 7 days before commencing construction of the buikling

* Refer to connection details.

* Saw construction joints to be 25mm doep x Smm wide. Saw cuttings shall take place no
fater than 24 hours afler pouring Saw construction joints to be placed at a maximum
spacing of 6.3m (in both the kength and the span). Care shoukd be taken to avoid
construction cuts infersecting swhere any fixing 10 the sleb s to be made.

For Class A, S or M Shes
* Skab thickness to be a mmimum of 100mm with SL 72 mesh and 40mm top cover.

* The minimum size of Piers under the columns and End Wall Mulbons arc nominated
below. When the siab and piers are poured as one pour, the depth of the pier & to the top
of the shab.

C€15012,C15019 - 300mm dia x 750mm deep, centered to the C Section

20015 - 450mm din x 800mm deep, centered to the C Section

2020015 - 450mm din x 1200mm deep, centered to the C Section

* Pier Remforcement: for any piers over 1100mm, deformed bar to within 100mm of
basc and minimum 75mm top cover. Minimunm side cover 7Smm, maximam 100mm. Rod
10 be caged borizontally at least twice and al & maximum of 300mm specing Tie with a
minimum of 6mm dizmete cage tie. Where pier diameter i less than 450mm dismeter,
use 4 N12. For dismeters equal to and over 450mm, use 4 N16.

For Class Hi or H2 Stes
* Shb thickness to be 8 minimum of 125mm with SL 82 mesh and 40mm top cover.

* Edge beam 400mm deep x 300mm wide with Y12 3 bar Trench Mesh to the perimneter
of the buikding

« Thickening bearms 400mm decp by 300mm wide with Y12 3 bar Treoch Mesh at a max
spacing of 6.2m.

« The minimum size of Piers under the cokimns and End Wall Mulions are nominated
below. When the slab and piers are poured as one pour, the depth of the picr i to the top
of the siab.

C15012,C15019 - 300mm din x 1000mm dezp, centered to the C Section

€20015 - 450mm dia x 1000mm doep, centered to the C Section

2C20015 - 450mm din x 1500mm decp, centered to the C Section

* Pier Reinforcement: for any piers over 1100mm, deformed bar to within 100mm of
base and minimum 7Smm top cover. Minimum side cover 75mm, maximum 100mm. Rod
1o be caged horizontally st least twice and at & maximum of 300mm spacing Tie with &
minimam of 6mm dismeter cage tie. Where pier diameter i kess than 450mm dimeter,
use 4 N12. For diameters equal 10 and over 450mm, usc 4 N16.

Comcrete Piers Ouly

* Pier design covers sides with 2 minoum of 100kPa safe bearg capacity and of soil
classification A, S. M, H1 or H2 for a class 10 building. Other than this, owner to provide
slab and pier design detaik.

* Designs arc m accordance with AS 3600:2009

* Al concrete to be in sccordance with AS 36002009, Minimum 25 Mpa, with 80mm
shump.
iers should be cured for 7 days before commencing construction of the building.

* All dimensions are from center of cohumns.

* Refer o connection details.

+ Saw construction jomts o be 25mm deep X Smm wide. Saw cultings shal take place no
Inter than 24 hours after pouring Saw construction jomts to be plsced at a maximum
spacing of 6.3m (in both the kength and the span). Care shoukd be taken to avokd
construction cuts intersecting where any foung to the siab is to be made.

For Class A, S or M Sites

Picrs 1o be a minimum of

C15012,C15019 - 300mm dia x 750mm deep, centered to the C Seclpn
20015 - 450mm dia x 800mm deep, centered to the C Section
2C20015 - 450mm dia x 1200mm decp, centered to the C Section (
Piers 1000mm and under in depth do not require any steel umfonemmlz: over
1000mm i depth to have a minimum of 4 N16 deformed bar to withi |

and minium 75mm top cover. Minimum side cover 75mm, maximurp
be caged horizontally at least twice and at 8 maximum of 500mm spachng.
minimum of 6mm diameter cage te.

For Class H1 or H2 Sites

Piers to be a minimum of
C15012,C15019 - 300mm dia x 1000mm deep, cmlzredwlbv.CSeClJ
C20015 - 450mm dia x 1000mm deep, centered to the C Secton .
2C20015 - 450mm dia x 1500mm decp, centered to the C Section
Piers 1000mm and under i depth do not require any stec] remforcemep
1000mm in depth to have a minimum of 4 N16 deformed bar to within|
and minimum 75mm top cover. Minimum side cover 75mm, maximur
bewdhwmnunynlhnwwnnmmumolsm spacit
minimum of 6mm diameter cage tic.

f;@g;uf. BUIT
e

3

G gRTIFIER

WHI

BRACING NOTES

* Refer to Connection Detaiks

* All bracing strap 10 be 32mm x |.6mm G450
-c:wmchg:mbernduuwmw.mwmzxumxzzrnmwmr——’-——’_

eachend.
* Fly bracing to be fixed to the purlne/gits at all mid portal rafters, columas and end wall
mulbons. The spacing between fly braces is determined by column/rafter szes as follows:

Initial measurement s from the haunch of the column/rafter, and from the rafter for any
end wall malkons

* Open bays to have fly bracing fified to every availsble git supporting the header shects.
* All bracing strap cads 1o be Jocated as chosc as practical 1o structural members (cohumns,
rafters, mulbons) cenlertine.

BOLTS

* Unless otherwise nominated. all boks are grade 4.6 and zinc pisted
* Alltensioncd bolts shall be tensioned using the part tum method (refer to AS4100). For
the crector, full details are & the construction manual

OTHER MATERIALS NOTES
* Al sheetiog and fashing screws are chass 3, all [raming screws are class 3
* Al purin matesial has Z350 zinc coating with minimum strength of 4S0MPa.

2@
w\
sN
5k
= R
w =)
e
UJOJ
Suk
i
.
%’:
o
o w
O

Purcheser Name: Gect Spics

[Orawing # W5s 160089 -2 Pt Deke: 210116

Seltr: W Spun Shed
‘Sneli Py Lij
General Notes e by 8
Page fol 1 Fc 07 5067 68000
comau

SHOWERS ENOINEERNO PTYLTD
ACN 075,007 144
ME At (Regiatared NPER

Stuckel & OM) 321787
CLO:RPEQNo. 1547; C - EC24162. TAS : CCABIOR LT
e 4608ES:

S - R S 200178

y

Qriis:



barnson.

APPENDIX B

Site Photographs




barnson

Figure 1- Top hat battens installed to support Figure 2 -Top ha frame installed to support
ceiling lining (client supplied) internal wall lining (client supplied)

Figure 3 - Exposed timber framing of partition Figure 4 - Wall and ceiling lining installed for fit-
walls (client supplied) out (client supplied)



barnson

*’F“igure 5 - South-East face of conveeAsd, pn
and enclosed section of attached verandah

Figure 7 - Verandah attached on South-West side Figure 8 - 100SHS verandah Post embedded into
of converted shed concrete pier

Figure 9 - Framing of attached verandah roof on
North-East side of converted shed edge






